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Question 1
Question Type: MultipleChoice

Which two of the following should be considered when specifying a service? (Choose two.)

Options: 
A- The platform on which the service will be deployed

B- The rate at which the service will be invoked

C- The platform from which the service will be accessed

D- The information passed as parameters to the service

Answer: 
A, C

Question 2
Question Type: MultipleChoice



Which two statements are true about Subflow and SpawnWorkflow activities? (Choose two.)

Options: 
A- Subflows can be nested, but SpawnWorkflows can not.

B- Both execution modes are supported by both activities.

C- SpawnWorkflow is ASYNCHR and Subflow is SYNCHR.

D- Subflow is ASYNCHR and SpawnWorkflow is SYNCHR.

E- Both Subflows and SpawnWorkflow can be nested.

Answer: 
B, E

Question 3
Question Type: MultipleChoice

In a mapping, you want to copy a node from the input tree without any of the children this node might have. Which statement should you

use to accomplish this?



Options: 
A- Copy Contents of

B- Copy All Except

C- Copy of

D- Copy

Answer: 
D

Question 4
Question Type: MultipleChoice

When will a conflict resolution cycle begin?

Options: 



A- when a rule action agenda is built or refreshed

B- when a run to completion cycle has ended

C- when a rule action is executed (or the agenda is empty)

D- when an external action causes changes to the RETE network

Answer: 
A

Question 5
Question Type: MultipleChoice

What does Rendezvous Daemon Manager (RVDM) manage?

Options: 
A- all Rendezvous clients in a network from a centralized location

B- the behavior of all clients connected to a daemon process

C- Rendezvous daemons in a network from a centraliled location



D- connections to the browser administration interface of a daemon process

Answer: 
C

Question 6
Question Type: MultipleChoice

What are the three options available to define the engine persistence mode at anAppSpace level? (Choose three.)

Options: 
A- file

B- memory

C- cache

D- group

E- exclusive

F- datastore



Answer: 
B, D, F
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